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Lecture 16
Slide 1
Deduce what you can about Fourier coefficients for following function:
[image: ]


Average over one period is ½ so  and function even so .
Compare with true values.
Above “guesses” are correct, the coefficients of the cosine terms are:


Lecture 17
Slide 1


Show that the Fourier Transform of the function is 


Lecture 18
Slide 1

Calculate the Fourier transform of the function given by 


oleObject2.bin

image4.wmf
01

10

11

00

1

1

0

0

22

(1)cos(1)cos. Use fact that integrating 

even function over symmetric range.
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2cos2cos. Integrate second term by parts
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f(x)1 if 1x1, f(x)0 otherwise,
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f(x)1 if 2x0, f(x)0 otherwise.
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